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1800 kN 120 - 80 &0 -60
a) Calculate the effective length of the column about the major and minor axis and
determine its classification in accordance with the provisions of BS 8110.

[2 Marks]

b) Based on above classification, applied load and applied initial bending moment,

calculate the reinforcement uetaﬂ. for the above column located in the ground floor

level. Take concrete grade as G40 (40 N/mm?), reinforcement G‘Tadﬁ as 460 (460

N/mm?) and assume d/h of é:%;e column as 0.9. The relevant column interaction
diagram is given in the Fig. Q4 (b).
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